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Eormula for determining the current intensity in a circuit:

i is the cu

rred (in J).

Formula for d'Ohm’s law:

where

the current intensity (in A).

Formula expressing electrical power as a function of work:
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P_ s the electrical power (in W).

pressing electrical power as a function of potential difference and current

U is the potential difference (in V).

i« the current intensity (in A).

he relationship between electrical po

Formula expressing t
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wer and electrical energy:

o E iz the electri arg

is the electrical power (in W or kW).

At s time interval (in s or h).
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Electric current and electrical power

A machine needs a charge of 1800 C to run for 3 minutes. What is the current intensity required
to make it run?

3 min= 180s
a 1800 C _

| = = i = 10A
At 180 s

The current intensity required to make the machine run for 3 minutes is 10 A.

- An electric stove requires a potential difference of 220 V. What charge is necessary for it to
provide 450 000 J of energy?
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For the stove to provide 450 000 J of energy with a potential difference of 220 V, a ch

2045 C is needed.

A tool runs on a current of 20 A and a potential difference of 120 V.

What is the tool’s electrical resistance?

U 120 v
R =—— = = 60
f 20 A

The tool’s electrical resistance is 6 £l.

" What is the tool’s electrical power?

P,=Ul =120V X 20 A= 2400 W

The tool’s electrical power is 2400 W.

A radio receiver needs a current of 6 A to work. What charge is needed to make it work
for 10 minutes?
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10 min = 600 s
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£ 3400 C is needed to make the radio receiver work for 10 minutes.
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What amount of energy can a 350 C charge provide ina 120 V circuit?

i

A toaster has an electrical power of 970 W. If it is used for two and a half minutes, what amount

of energy does that represent?
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An electricity bill shows that 1320 kWh was consumed over a 70-day period. Calculate the
electrical power used in this period.
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What amount of electrical energy will a 900 W coffee maker have consumed after six minutes
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of use?
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An element in a circuit requires a potential difference of 120V and offers a resistance of (.

What is the intensity of the current flowing through the element?

What is the element’s electrical power?
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